natural stone cladding systems




eclaoﬁg\é

/ 276 [104) N 327 [12]] N /o 1 378 [14]) N
56y J J 563 J 564
Thermal ~ Thermal " Thermal
packer packer packer
1 283 (113 I 334 133 -
‘ 232198 | J
\_WT101D & M12 _/ \_WT152D & M12 _/ \_WT203D & M12 J
( —108 41— N 159 [64] N 21081 N
=
3 3 3
5 gl Site trim if 5 gl _J Site trim if 5 gl _J Site trim if
Thermal necessary Thermal =+ necessary Thermal = necessary
packer packer packer
1 1
50 [2]4 ———105 [48]4 156 [65] ——
\_WT101D & M4 ol ) \_WT152D & M4 g) /) \_WT203D & M4 %! Y
4 s N N N
176 [67¢] 228 9] 278 [11]
1 pes
3 T 3 - T
sy | [: sy | : €++ 5% [: #F
Thermal =" ] e Thermal =" ) Thermal ™| "]
packer packer acker .
” =
118 4l — 1741613 224 (813
\_WT101D & M3 /) \_WT152D & M3 /) \_WT203D & M3 Y,
/ N - N N
——126 [5]——| f 2289]
j =
— Site trim if 3 T, Site trim if —— Site trim if
5 [%] _u .| necessary 5l _J .|| necessary 5 [1%] _J .| necessary
Thermal —] Thermal =" Thermal —]
packer packer packer
68 [2 oy ——123 [4%]—4 174 [(%]
\WT101D&M1 / \WT152D&M1 / \WT203D&M1 /
4 N N 3 N
30mm (14") Stone 30mm (14") Stone -
40mm (13") Stone 50mm (2") Stone 40mm (14") Stone 50mm (2") Stone
—96 (313 -74 [ﬁ]“ —
shimas | — 86 [3_] simas 1101 [4] shimas kG4 [2_] Shimas |79 [3_]
veqwed\ _1 mquued\ _I required 2. . reqmred\ —I e
< o 1 ~my - g} ; : P
1 1 1 |
2 bygl B I:HJ lé :j 2 bygl % | L Eﬁ/ﬂj —
Thermal T 1 Thermal 77 1
packer i packer [l 9% ; Shim s
I 1 | 1 Ry
201 2651 L lso @l ordl | 26y | lso @l 1
Thermal Thermal ™ 2 [7gl -
40 [116] packer 40 [1W; — packer Thermal
packer 1
2 [§
\___ HDF &H1-3DC HDF&H1-5DC / \__ HDF &H2-3DC HDF&H5-5DC  / \_HDF &H3 206 J




— &
E e 4 | | |
o T <
e} A s R AR
_ T — [ A A MMM &
|||||||||||||| A A A TR A R N N R R R R R
— SRR ~ NN AR SN o
= NN\ E 5 LR R s B
NI ps Qa_% AMAREERE //// //////7 N NI
v 3
|

L 69
L 59
I

I

I

I

Ih]
]

r

Ih]

I

I

I

[N

1

eclad #
24 N
[%1”
“h
Al
i
pal
301
\ Stone (Various) /
9533 —
/
L
17]_;_
s/
L50 [Z]J

AR RN TR
AR RN

MARNRRN
TN
X

/-

301

3H8 RN

I
R R N
RN RN 7 AR
I

i
|
|
|
u
|
|
20mm (3") Stone 30mm (13") Stone 50mm (2") Stone
N ' 2N ’ 2N /
|
|
|
|
u
|
|
20mm (3") Stone 30mm (13") Stone 50mm (2") Stone
2N ' 2N ' NG /

T
|
|
|
|
T
l
|
|
i

-
g
|
|
i
1
l
|

20mm (") Stone
RN ’ %

<160
=
«©
N
| 1 |
.
M . [> 3

Terracotta

Terracotta

:
i
Ll

12mm (3") CRF Stone 20mm (3") Stone 30mm (13") Stone 50mm (2") Stone
N 2N ’ 2N ’ 2N /

/i_
\
/i
"
/i
N
s

MSC2



ESV

|
¢ {TC) oy
Al g ®
5 " — M iR ®
< gL NN
Sata ey, ) (WT) DL A N i
4 o G {8y
R=c = 5 . {F21]
D S (@) oL
(DC) B R -
4 (SB1) oL
= (UH1) e |
® ® — 2
EiS =
i {NE2)
(M1 =l I
W _ B
LES
! -
S CHD
NE2
@
e {Fat
(st
(HD ,
i .
| -
WT ) WL i %m
| GEY WL
) (Side Bar behind WT)
@ ] @
L " % %
| % N Y s, (80)
T
50
o)
@
A /
NBT 4 4 4 Fat
SB1
NN\'C NERAYTERAMNE NUOWNNN N\
RN N N N NN\ N N N

Wall Tie Anchor - DL or WL. Horizontal Rail. M12 Expansion Bolt. Concrete Slab.
Slide Bar - DL or WL. Top Clip. DIN933 HEX Bolt. Blockwork.

Nut Bar. Dual Clip. Elco Self Drilling Screw.

Mullion. Bottom Clip.

Mullion Support Clip. UH1 H1 Horizontal Splice. Damp Proof Course.

Horizontal Lock Clip. Insulation.

I
=
(e



(SBY WL
(Slide Bar behind WT)

@D

(™

Foi

@

| E—
7 B () B
I pal . 4
< 4
4
g a
- T
— {UH1)
{M12)
{GSK)
{DC)
{ |NSZ
yg
E PCE
F3i
AN N NN\ NN R NN N NUOANNNENNNCY
~ N\ N NNV N NN N O\ N
PCH
il ————{(ns(
(M12)
% GSK)
B SB1
(NB1)
{ (F21]
i)
HiE HiE
<] l\ I 1
A e
A — Foi
Z] A
Wall Tie Anchor - DL or WL. Top Clip. M12 Expansion Bolt. NE1)  Concrete Slab.
Horizontal Rail. Dual Clip. M12 Bolt. NE2)  Blockwork.
Slide Bar - DL or WL. Bottom Clip. DIN933 HEX Bolt.
Nut Bar. Union Splice for H1. F31 Elco Self Drilling Screw.
Mullion. Panel Clip.
Mullion Support Clip. Thermal Packer. Damp Proof Course.
Horizontal Lock Clip. Gasket. (INS( Insulation Panel.

4




ESD

&)
& N—
H
HDF
HDF
T {H2)
§ -
{DC)
HDF
i N—=
s
H t A
A
N () 7
q .
Z
HDE : % % NED)
H I 2
i i 7
%
€ x A -
7 -
< "/
7 .
o -
A |
A J Z
= -
z e
7]
< =
‘ (DCy
A Z /. . A ARSI AT
75507707 //////f/%‘(/# 0000050500 5000052070 7, .
: ; <!
SHM(
{F31]
e
NE7
Stone Top Clip. Self Drilling Screw. Damp Proof Course. Concrete Slab.
Stone Dual Clip. Tapcon®Concrete Anchor. Insulation Panel. Blockwork.
Stone Bottom Clip. Shims.
Horizontal Rail.

Horizontal Direct Fixing.
Thermal Packer.
Cut once.




(u3)

{WT1) DL

(ucc) wi

{Ucc1) bL

NE2

(ucc) wi

UCC1) DL

—~———(ns(

(WTD WL

:

(]
o2}
=

=z||Z
!! Eg

=
%
O

I
=
(¢

Wall Tie Anchor - DL or WL.

Slide Bar - DL or WL.

Nut Bar.
Mullion.
Mullion Support Clip.
Horizontal Lock Clip.

Horizontal Rail.
Horizontal Rail.
Undercut Clip - DL or WL.

-
o
=

m
N
=

mm
AW
g e

m
a
=

M12 Expansion Bolt.
DIN933 M12x25 Bolt.
Self Drilling Screw.
Undercut Anchor.
DIN7346 Spring Pin.

{UCC1) wL

NE2

eclad

Stone Claddin tems

/" Eclad EUD

i
i

i

i

i

|

i

Shim as ,
equired 1
requi ~ E
ps !

|

i

i

i

i

4

o

h

i

i

|

i

i

|

~<mEmmay !

|

i

i

i

|

i

i

i

i

| 2

o812

K 66 [23

7 Eclad EUV/W
40 (151

3,
30 [15%]
20 [%] .

g

j

[/
60 (23] —I

Concrete Slab.
Blockwork.

Damp Proof Course.
Insulation.

\_ Feo 351

/




eclad%{%

Stone Cladding System

IRELAND SPAIN UK USA

= natural stone cladding systems

INSTITUTE
MEMBER




